PY2ERarnilD
CBF1000FA 2010-present HUGGER

Fitting kit:

2 x M6 x 16mm Flange headed allen bolt
1 x M5 x 16mm Flange headed allen bolt

Fitting instructions:

1) Remove rider and pillion foot peg on chain guard side of bike, this gives you access to remove
the chain guard.

2) Remove rear most brake hose clip bolt and remove the plastic brake hose clip from the hose.
3) Slide hugger into position and loosely fit the M5 X 16mm bolt to the brake hose clip mounting.
4) Use the two M6 x 16mm bolts to loosely fit the chain guard side of the hugger.

5) Tighten all the fixings checking alignment of the hugger as doing so.

6) Re-attach the pillion and rider foot pegs.

7) Check all fixings are tight and check all fixings periodically.



